10.

GEOLOGY

Out of the following, which is the correct sequence in Barrovian Zone in increasing order ?
(a)  Chlorite — biotite — almandine — staurolite

(b) Chlorite — biotite — staurolite — almandine

(c) Biotite — chlorite — almandine — staurolite

(d) Almandine — staurolite — biotite — chlorite

With which of the following, the Wilson cycle is related ?
(a) Formation of continents (b)  Opening and closing of oceans
(c) Development of geosynclines (d) Formation of orogenic mountains

Which of the following is the most distinguishing rock in the subduction zone ?
(a) Basalt (b) Sandstone
(c) Ophiolite melange (d) Granodiorite

Which of the following is the largest submarine fan in the world ?
(a) Nile Fan (b) Amazon Fan (c) Indus Fan (d) Ganga Fan

Which of the following is world’s largest molassic plain ?
(a) Indo-Gangetic plain (b) Sahara plain
(c) Siberian plain (d) Coastal plain of India

Out of the following, what is represented by the contact between Bundelkhand Granite and
the Vindhyan rocks of Madhya Pradesh and Uttar Pradesh ?

(a)  Angular unconformity (b) Non-conformity
(c) Disconformity (d) Blended unconformity

Omphacite and garnet are characteristic minerals of which of the following ?
(a) Eclogite (b)  Granulite (c) Migmatite (d) Gneiss

Out of the following, the black smokers are found at :
(a) Africa (b) Deep ocean floor (c) South America (d) Mountains

Mineral fish is associated with which of the following ?
(a) Igneousrocks (b) Mylonites (c) Shales (d) Marbles

Which of the following statements explain geological hazards ?

(a)  The hazards on rocks

(b) The hazards created by geologists

(c) The hazards due to atmosphere

(d) The geological conditions that create potential risk to human life and property.
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Which of the following pair of minerals represents the shock metamorphism ?
(a) Coesite and stishovite (b) Diamond and coesite
(c) Microcline and olivine (d) Sillimenite and olivine

Idduki dam on Periyar river in Kerala is of what type ?
(a) Arch dam (b) Gravity dam (c) Earthen dam (d) Buttress dam

From which of the following thermal springs highest temperature water is emitted ?
(a) Devibagar (b) Tapovan (c) Yamunotri (d) Ganganani

What can be a proper term for a clayey rock not having fissility or lamination ?
(a) Shale (b) Mudstone (¢) Siltstone (d) Sandstone

The Damuda Group contains coal seams of which period ?
(a) Permian (b) Carboniferous (c¢) Devonian (d) Silurian

Where, out of the following, the phosphorite deposits of Mussoorie Syncline found ?
(a) Krol-Tal boundary (b) Nagthat-Blaini boundary
(c) Lower Krol (d) Chandpur Phyllite

On the basis of relation of occurrence, match the minerals of List-I with the rocks given in
List-II.

List-I List-II
A. Diamond 1. Sandstone
B. Chromite 2. Kimberlite
C. Petroleum 3. Schist
D. Biotite 4. Peridotite
(a) A-1,B-2,C-3,D4
(b) A-2,B-4,C-1,D-3
(c) A-3,B4,C-2,D-1
(d A-4,B-3,C-2,D-1

The Precambrian coal originated from which of the following ?
(a) Wood (b) Leaf (c) Twigs (d) Algal

Out of the following, which is not a natural kindred ?
(a)  Granite — Granodiorite — Diorite (b)  Granite — Pyroxenite — Dunite
(¢c) Dunite — Peridotite — Pyroxenite (d) Gabbro — Norite — Anorthosite

What is the age range of Graptolites ?
(a) Devonian to Triassic (b) Devonian to Cretaceous
(c) Cambrian to Permian (d) Early Ordovician to Early Devonian
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What is the age range of conodonts ?
(a) Cambrian to Recent (b) Devonian to Triassic
(c) Cambrian to Triassic (d) Ordovician to Eocene

Out of the pairs given below, which one is not likely to occur together ?
(a) Glossopteris and Gangamopteris (b)  Sphenopteris and Pecopteris
(c) Vertebraria and Ptilophyllum (d) Otozamites and Nilsonia

Pallial sinus occurs in which of the following ?
(a) Palecypoda (b) Gastropoda (¢c) Coral (d) Echinoidea

The last whorl of a gastropod shell covers all of the previous whorls. What is this shell
form called ?

(a) Conical (b) Convolute (c) Turbinate (d) Globular
Which one of the following has a univalve shell ?

(@) Trochus (b) Arca (¢c) Cardium (d) Spondylus
The shell of Radiolaria is made up of which of the following material ?

(a) Calcareous (b) Gelatinous (¢) Siliceous (d) Phosphatic
Stromatolites are formed by which of the following ?

(a) Blue-green ostracodes (b) Fungi

(c) Green Bacteria (d) Cyanobacteria

Due to erosion of an allochthonous rock mass sheet a doubly plunging anticline is exposed
within the sheet. What can the possible structure be ?

(a) Klippe (b) Outlier (¢) Window (d) Inlier

The release of water over the ground surface in order to increase the quantity of
underground water is called what ?

(a) Water spreading (b) Sewage recharge

(¢) Induced recharge (d) Shaft recharge
Indo-Gangetic plain is also known as one of the following. What is that ?
(a) Erosional basin (b) Backland basin

(c) Geosynclinal basin (d) Foreland basin

An impermeable formation that neither contains nor transmits water is called as what ?
(a) Aquitard (b) Aquifer (c) Aquiclude (d) Aquifuge

Which of the following is the oldest Palacozoic formation in the Spiti valley, Himachal
Pradesh ?

(a) Kuling Formation (b) Haimanta Group
(c) Po Formation (d) Muth Formation

Makrana marble is related with what of the following ?
(a) Bhima Group (b) Raialo Formation (¢) Damuda Group (d) Tatrot Formation
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What is the age of Murree Group ?
(a) Middle Eocene to Oligocene (b) Eocene to Pleistocene
(c) Oligocene to Recent (d) Middle Miocene to Early Pleistocene

Which of the following has longest time duration ?
(a) Proterozoic (b) Palaeozoic (c) Mesozoic (d) Cenozoic

Which of the following division of Gondwana supergroup is important from the point of
view of coal seams ?

(a) Talchir (b) Damuda (c) Panchet (d) All of these
Which of the following thrust passes through Rishikesh-Dehradun region ?

(a) Main Central Thrust (b) Main Boundary Thrust

(c) Vaikrita Thrust (d) None of the above

Which of the following separates Punjab shelf and West Uttar Pradesh shelf ?

(a) Faizabad Ridge (b) Monghyr — Saharsa Ridge
(c) Delhi — Haridwar Ridge (d) None of the above
Match the terms of List-I with List-II and select the right answer.
List-1 List-1I
A. Meekoceras 1.  Intertreppean beds
B.  Chari Formation 2. Early Triassic
C. Period 3. Dhosa Oolite
D. Physa 4. System

(a) A-2,B-3,C-4,D-1
(b) A-3,B-4,C-1,D-2
(c) A-4,B-3,C-2,D-1
(d) A-1,B-2,C-3,D4

Match the terms of List-I with those of List-II and select the right answer.

List-I List-1I
A. System 1. Period
B. Erathem 2. Epoch
C. Series 3. Era
D. Stage 4. Age

(a) A-4,B-2,C-1,D-3
(b) A-1,B-3,C-2,D-4
(c) A-1,B-2,C-3,D-4
(d A-2,B-4,C-1,D-3

In which of the following place, Deccan Traps are not exposed ?
(a) Uttar Pradesh (b) Madhya Pradesh (c) Gujarat (d) Maharashtra
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42. Arrange the following from older to younger :
A. Fawn Limestone
B. Rohtas Limestone
C. Bhander Limestone
D. Kajrahat Limestone
(a) A-B-C-D (by D-C-B-A (c) D-A-B-C (d C-A-B-D

43. Arrange the following from older to younger :
A. Deccan Trap
B.  Panjal Trap
C. Rajmahal Trap
D. Dalma Trap
(a) A-B-C-D (b) D-C-B-A (c) C-A-B-D (d) D-B-C-A

44. Which one of the following indicates shift of river course ?
(a) Meandering (b)  Unpaired flood plain
(c) Braiding (d) Rapids

45. Which one of the following parent-daughter system has the longest half life ?
(a) 147Sm _ 143Nd (b) 87Rb _ 8751‘
() 40K _40Ar (d) 1870g — 187Re

46. Cycle of erosion is better defined by what of the following ?
(a) Sequence of erosion and deposition (b) Sequence of up-lift and erosion
(c) Sequence of landscape evolution (d) All of the above

47. Which of the following sequence represents increasing slope ?
(a)  Shore — continental shelf — continental slope
(b) Continental shelf — continental slope — shore
(c) Continental slope — continental shelf — shore
(d) Continental shelf — shore — continental slope

48. Where out of the following the earthquakes with foci (around 700 km) are common ?
(a) Mid oceanic ridge region (b) Island arcs
(c) Outer Himalaya (d) Continental rifts

49. Which of the following pair of geological feature is incorrect ?
(a) Mariana Trench — Atlantic Ocean
(b) Bermuda Rise — Atlantic Ocean
(c) Ninty East Ridge — Indian Ocean
(d) Carlsberg Ridge — Indian Ocean
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Identify the correct pair of glacial landforms that provides information about the direction
of ice motion.

(a) Drumlins and roche moutonnee (b) Kames and eskers
(c) Eskers and Kettle holes (d) Terminal and ground moraine

Horizontal slickensides are observed on the surface of a fault. What is the type of fault ?
(a) Normal fault (b) Reverse fault (c) Strike slip fault (d) Oblique fault

If a rock block is carried far away from its original place by a thrust, what is it called ?
(a)  Allochthonous (b) Autochthonous (¢) Both (a)and (b) (d) None of these

What is the term for the horizontal displacement in a normal fault ?
(a) Throw (b) Tear (c) Heave (d) Strike

Rock layers often show buckling fold structure. It is in response to what ?
(a) Layer parallel shear forces (b)  Cross layer compressive forces
(c) Layer parallel compressive forces (d) Cross layer gravity forces

The mineral axinite shows what of the following ?
(a) 6 planes of symmetry (b) 1 plane of symmetry
(¢) 3 planes of symmetry (d) No plane of symmetry

The space lattice structure of minerals is determined by using what of the following ?
(a) Chemical analysis (b)  Spectroscopic methods
(c) X-ray diffraction (d) Scanning electron microscope

Find the odd one of the following :
(a) hornblende (b) hedenbergite (c) glaucophane (d) actinolite

Match the structure of List-I with the example from List-1I and give the correct answer.

List-1 List-11
A. Nesosilicate 1.  Fayalite
B. Cyclosilicate 2. Nepheline
C. Phyllosilicate 3.  Beryl
D. Tectosilicate 4.  Chlorite

(a) A-1,B-2,C-3,D-4
(b) A-1,B-3,C-4,D-2
(c) A-1,B-4,C-3,D-2
(d) A-4,B-3,C-1,D-2

Cross hatched twinning is characteristic of which of the following mineral ?
(a) orthoclase (b) quartz (c) microcline (d) calcite
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Bertrand lens is used to study what of the following ?

Pyrolusite

(a) Refractive Index (b) Interference Figure

(c) Optical sign (d) Interference colours
Caliper logging is employed for determining what of the following ?

(a) Physical properties of rock formations

(b) Stratigraphic sequence of rock formations

(c) Variations in bore hole diameters

(d) Porosity of reservoir rock

According to their magnetic susceptibility values, which of the following sequence is
correct ?

(a) Quartz — Anhydrite — Chromite — Magnetite

(b)  Quartz — Chromite — Anhydrite — Magnetite

(c) Magnetite — Quartz — Chromite — Anhydrite

(d) Anhydrite — Quartz — Chromite — Magnetite

What out of the following is the character of electro-magnetic radiation ?
(a) It produces time varying magnetic field.

(b) Itis capable of travel across space.

(c) It consists of magnetic and electric fields.

(d) All of the above

Which of the following is an alkaline pyroxene ?

(a) Enstatite (b) Diopside (¢) Jadeite (d)
Which of the following is not a zeolite ?

(a) Natrolite (b) Stibnite (c) Stilbite (d)
Find the odd one out of the following :

(a) Shphalerite (b) Pentlandite (c) Marcasite (d)
Which of the following is not an ore mineral ?

(a) Pyrite (b) Pyrolusite (c) Chalcopyrite (d)
Which of the following is correct sequence with increasing economic potentiality ?
(a) Resource — Probable Reserve — Possible Reserve — Proved Reserve
(b) Resource — Possible Reserve — Probable Reserve — Proved Reserve
(c) Proved Reserve — Possible Reserve — Resource — Probable Reserve

(d)

Probable Reserve — Possible Reserve — Resource — Proved Reserve

In a contact metasomatic deposit from pluton to far away, which of the following mineral
sequence may be correct ?

(a)
(b)
(c)
(d)

Series-A

Magnetite — Wulframite — Pyrite — Chalcopyrite
Waulframite — Chalcopyrite — Pyrite — Magnetite
Pyrite — Magnetite — Chalcopyrite — Wulframite
Chalcopyrite — Wulframite — Magnetite — Pyrite
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70.

71.

72.

73.

74.

75.

76.

77.

From the point of view of decreasing temperature of formation, which of the following
order is most probable ?

(a) Cinnabar — chalcopyrite — cassiterite — chromite

(b) Chalcopyrite — cinnabar — chromite — cassiterite

(c) Cassiterite — chromite — cinnabar — chalcopyrite

(d) Chromite — cassiterite — chalcopyrite — cinnabar

Match the minerals in List-I with the deposits in List-II and select the correct answer.
List-1 List-11

A. Hematite 1. Jhiroli

B. Chalcopyrite 2. Mosaboni

C. Magnesite 3. Amba Dongar

D. Fluorite 4.  Gorumabhisani

(a) A-1,B-2,C-3,D-4

(b) A-4,B-3,C-2,D-1

(c) A-4,B-2,C-1,D-3

(d A-2,B-1,C-4,D-3

If in an igneous rock olivine and quartz occur together, then that may probably be due to
which of the following phenomenon ?

(a) Magmatic differentiation (b) Assimilation

(c) Fractional crystallization (d) Doliomorphism

In thin section if a quartz grain is found to be isotropic, then this may be due to what of the
following ?

(a) The section was cut perpendicular to the optic axis.

(b) The section was cut parallel to the optic axis.

(c) The section was cut oblique to the optic axis.

(d) The section was of an opaque quartz.

What is the correct order of the following from older to younger ?

A. Noamundi banded iron deposit

B. Raniganj coal deposit

C. West coast bauxite deposit

D.  Kbhetri copper deposit

(a) A-B-C-D (b) A-D-B-C (c) D-C-B-A (d) C-D-A-B

Find the odd one out of the following :
(a) Magnetite (b) Magnesite (c) Manganite (d) Cuprite

The deposition of phosphorate, pyrite and black shale in a sedimentary sequence indicates
which environment of deposition ?

(a) Deep sea environment (b) Shallow sea oxidizing environment

(c) Fresh water environment (d) Shallow sea with reducing environment

What is the term for describing a detrital rock containing fragments of only one kind of
material ?
(a) Polymict (b) Oligomict (c) Kerogen (d) None of these
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78.

79.

80.

81.

82.

83.

84.

8s.

86.

87.

88.

89.

Which of the following pair is correct ?

(a) Sandstone — Slate (b) Limestone — Quartzite

(c) Shale — Phyllite (d) Conglomerate — Marble
What is the metamorphic facies of Khondalite ?

(a)  Greenschist facies (b)  Granulite facies

(c) Amphibolite facies (d) Hornfels facies

In cement what is the approximate ratio of lime and clay ?

(a 1:4 by 2:3 (c) 3:2 (d 4:1
Deccan flood basalt is mainly which of the following type ?

(a) Tholeitic basalt (b) High alumina basalt

(c) Komateitic basalt (d) High magnesium basalt

Where are the Borra caves located ?
(a) Andhra Pradesh (b) Tamil Nadu
(c) Madhya Pradesh (d) Rajasthan

Which of the following is mainly used for Optical Stimulated Luminiscence (OSL) for dating ?
(a) Topaz (b)  Graphite (¢) Sillimenite (d) Quartz

Which of the following sedimentary structure is not found on the upper bedding plane of a
bed ?
(a) Ripple marks (b) Rain prints (¢) Rill marks (d) Load casts

A mineral as seen in microscope shows two sets of cleavage at 56°, is pleochroic from
light green to dark green and has extinction angle of 16°. What can be this mineral ?
(a) Augite (b) Hornblende (c) Chlorite (d) Hypersthene

Most of the anorthosite intrusion in the world occurred between which of the following
time duration ?

(a) 1700 to 1100 m.y. before present (b) 1200 to 800 m.y. before present

(c) 1300 to 900 m.y. before present (d) 1400 to 1000 m.y. before present

Earlier the age of Tal formation was considered to be cretaceous which is now accepted as
cambrian. What is the main evidence ?

(a) Discovery of Gastropods (b) Discovery of Ostracodes

(c) Discovery of Trilobites (d) Discovery of Vertebrate fossils

Width of outcrop of a vertical bed as measured on horizontal ground is 50 metres. What
can be its true thickness 50 metres deep ?

(@) 50 metre (b) More than 50 metres

(c) Less than 50 metres (d) None of the above

In coal mining winze is also known as what ?
(a) Dipgallery (b) Raise (¢) Cross cut (d) All of these
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90.

91.

92.

93.

9.

9s.

96.

97.

98.

99.

100.

(a) A Tt (b) W (c) THEH @ w=afig
Minimum metal percentage at which mining is profitable is known as what ?
(a) Average grade (b) Cut off grade (c) Mill grade (d) Economical grade

The dispersion of elements in earth is a function of what of the following ?
(a) Density of elements (b) Atomic weight of elements
(c) Chemical composition (d) Geochemical affinity

Snowball garnets are formed by which of the following process ?
(a) Contact metamorphism (b) Cataclastic metamorphism
(c) Dynamothermal metamorphism (d) Plutonic metamorphism

What is the spatial resolution of IRS-LISS III mutlipectral sensor for Near Infra Red (NIR)
band ?

(@ 58mx58m(b) 23.5mx235m (¢) 70mx70m (d 725mx72.5m

Find the odd one out of the following :
(a) Jurasania (b) Minjaria (c) Kusiella (d) Conularia

From the following which property is determined by ‘Brazilian Test’ ?
(a) Compressive strength (b) Tensile strength
(c) Shear strength (d) None of the above

Horizontal offsets in stream courses are indicative of what ?
(a) Folds (b) Faults (c) Joints (d) Foliations

A rock contains fossils Nummulites, Assilina, Discocyclina and Globigerina. What can be
its age ?
(a) Tertiary (b) Cretaceous (c) Triassic (d) Permian

What of the following is determined by Walker’s Steel yard balance ?
(a) Specific gravity (b) Tenacity
(c) Lustre (d) Hardness

The ratio of lateral strain and longitudinal strain is known as what of the following ?
(a@) Modulus of rigidity (b)  Young’s modulus
(c) Bulk modulus (d) Poisson ratio

In a sandstone hornblende, kyanite, sillimenite and staurolite are found as heavy minerals.
What can be the probable source rock for this ?

(a) Plutonic felsic igneous (b) Volcanic mafic igneous
(c) High grade metamorphic (d) Non-clastic sedimentary
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